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BlRE 2. # x(u,v) B—EAFEEZHE (isothermal parametrization), HElEHR £ = G = A(u,v) >
0,F =0,

1
K= _Q_AA(ID )\),

Hih Ap = P2 1 T2 B o 1) 355430 (Laplacian), B, & F = G = (> +0°+¢) % F =
0, Al K = 4c,

A 1 AR, BE

R () 4 () = e ) - s

EA=wW+v2+c) 3 Bl ln\ = -2In(u? +v? +¢), M H
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(A, = -2 — f;“; = f;“; = (V= +i2 ot iuv'fi BE
(InA)y = —2- 02 +2;}2 Teo w2 +4;}2 +c (I Ao = S u? +i2 +c + (u? 101;221 c)?

Fir A

K= ‘% (I A + (IN X)) = —% A (AU + 07+ 0) + 8u” — 4(u” + 0" + ) + 80°) = dee

B8 3. HEEE R KRERIHIE,

fiE.

%5I%8 4. K (sphere). ¥ (cylinder). BE¥ (saddle) z = 2 — y? T A REREREE,

fiE.



IR 5. Byag LUT W h

x(u,v) = (ucosv,usinv,Inu),u >0

X(u,v) = (ucosv,usinv, v)

FELFERIES x(u, v) B X(u,v) BEREREHHZE, B2 Xox™' WIEREBS, EMEGITEH: B
HRERER AT 1S R AT 2R AHIR], B2 AN S

. A Xox ! MFECRIEM, FEMEILITavE (58 231 H, Bt 4-2 HE 2):
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Let ¢ © S — S be an isometry and x : U — S a parametrization at p € S, then

4 6.
= @ ox is a parametrization at p(p) and E = E,F =F,G =G.
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BIRE 7. ABELAREEEME x(u,v) ME E=G=1,F=0,e=1,g=—-1,f =0,

fiz.

BiR8 8. BEFEMMA x(u,v) WE E=1,F =0,G = cos?u,e = cos’u, f =0,g =17

FiE.



